Hourly Residual Elevations — November 2013 — Newport

0.5

Model
+++++ Obs.

0.0F
= +
-0.5—
0 12 0: 12 0: 12 0: 12 Q 12 0: 12 0 12
1 2 3 4 5 6 7
November
2013
1.0
- +
0.5— . .
, e + +
== AR + ot " * N e . T +
0.0—
— +
-0.5— 3
0 12 0: 12 0: 12 0 12 0 12 0: 12 0 12
8 9 10 11 12 13 14
November
2013

0 12 0: 12 0 12 0 12 0 12: 0: 12 0 12
22 23 24 25 26 27 28
November
2013
1.0
0.5
0.0
-0.5
0: 12: 0: 12: 0: 12: 0: 12 0: 12 0 12: 0 12
29 30 1 2 3 4 5
November December
2013

STATISTICAL SUMMARY

Sample size: /20

Correlation coefficient: 0.846
Mean Error: —0.11

Standard deviation of error: 0.146
Coefficients: 0.114  1.052

RMS error: 0.183

(Diamonds mark the hour closest to model high water.)

HW Data

Sample size: 57

Correlation coefficient; 0.897
Mean Error: —0.15

Standard deviation of error: 0.121
Coefficients: 0.133  0.777

RMS error: 0.194



